cv
b(SE)

FS

(mean)
(standard deviation)
(coefficient of variation)
(factor loading)

(factor score)



df
GH
NFI, RH

21-30
31-40
41 - 50
51 - 60

(degree of freedom)

82
15
97

13
13
10
97

13
2

97

(goodness of fit index)

84.54
15.46
100.00

1.03
13.40
15.26
1031
100.00

2.06
15.26
21.65

1.03
100.00



5( )

13.40

5-10
1-15
SR>
20

41-50

75.26

21.65
16-20

36.14, 35.05

65

1 1.03

! 1.22

9 9.28

28 28.87
52 53.60

97 100.00

31 38.14

34 35.05

26 2681

97 100.00

" 19.38

20 20.62

97 100.00

(
84.54 15.46
31-40
15.26
20
53.60 28.87
4 5
26.81

79.38



31-40
41 - 50
51-60

5- 10
1n-15

20

2
23
95

63
21
95

63
3l

95

19
10
9

35
29
3l

15.19
2421

5.26
66.32
28.42
100.00

66.32

32.63
1.05

100.00

1.05
5.26
20.00
13.69
100.00

36.84
30.53
32.63

66



6(,)
6.
L
41-50
28.42
6632  32.63
73.69
5 36,84, 32.63
( 7
7903 2097
59.68 51-60
20
2258

69.35

95
85
10
95
(
579 242
66.32 51-60
16-20
6 1
30.53
89.47
41-50
21.50
8548 1398
54.84 16-20
5

39.25, 37.63 23.12

67

100.00

89.47
10.53
100.00

20
20.00



21-30
31-40
41-50
51-60

5-10
1n-15
16-20

20

147
39
186

10
25
111
40
186

159
26

186

18
17
42
102
186

79.03
20.97
100.00

5.38
13.44
59.68
21.50
100.00

85.48
13.98
0.54

100.00

3.16
9.68

9.14
22.58
54.84
100.00

68



7(

114
15
16
17
18
19
21

10
13
43
186

129
5/
186

1239
673
1912

26
283
652
657
216
17

1912

31.63
39.25
23.12
100.00

69.35
30.65
100.00

64.80
35.20
100.00

1.36
14.80
34.10
34.36
14.44
0.89
0.05
100.00



8( )
! 585 30.60
5 762 39.85
6 565 2955
1912 100.00
1016 53,14
390 2040
130 680 _
376 19,66
1912 100.00
2.00 276 14.43
2.00- 2.49 576 30.43
250-2.99 54 2741
3.00 536 28.03
1912 100.00
(
6480 3520
17 16 3436 3410
5 39.85
4 6 3060 2955
: 53.14
2040 2.00-2.49

300 2.50-2.99 30.13,28.03 2741

10



145

200- 249

18

101

20.2, 193

4
5

141

17

28.0

137

8.9

134

2.1
20.3

15
197

17

3.00

64.8

(

142

9-10)
16
11

11.0

2.40 -

22.5

25.4

3.00

2.99

17



14
15
16
17
18
19
2

19
175
431
425
181

1239

367
485
387
1239

536
282
0
3l
1239

%

10
9.2
225
22.2
9.5

64.8

19.2
254
20.2
64.8

28.0
147
AT
173
64.8

!
108
221
232
9%

673

218
217
178
673

480
108
40
45
673

%

5.6
11.6
121
5.0

35.2

114
145
9.3
35.2

251
5.6
21
24
35.2

12



9( )

2.00
2.00-2.49
2.50-2.99

3.00

10

2.00
2.00-2.49
2.50-2.99

3.00

152
389
355
343
1239

386
50
40
109
585

n
137
167
210
585

%

202
26
21
5.1
30.6

3.7
1.2
8.7
110
30.6

%

1.9
203
18.6
179
64.8

369
184
32
1
162

9
269
189
205
162

124
187
169
193
673

%

19.3
9.6
17
9.3
399

5.2
141
9.9
10.7
39.9

261
156
58
90
565

106
170
168
121

565

%

6.5
9.8
8.8
10.1
35.2

%

137
8.2
3.0
4.7
296

5.9
8.9
8.8
6.3
296

13



10(

14
15
16
17
18
19
2

)

22
212
268
23

585

%

12
142
140
12

30.6

162

%

184
19.7
10

399

251
251
14

565

%

17
134
134

296

4
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1

X
418
4.07
4.65
4.23
3.65
410
441
4.28
4.58
4.28
432
431
3.87
391
403
4.19
419
4.38
4.55
4.44
4.45

«

65
11

62
18
b7
99
b1
52
fl
62
b4
62
12
il
b/
14
60
52

56

X
416
4.09
4.58
4.26
3.18
4.25
443
428
4.45
4.47
417
4.29
4.02
3.78
3.9
4.22
419
421
443
4.42
4.36

99
62
o4
o7
16
b7
2
66
65
26
6
62
90
16
13
b4
M2
1
B8
69
68

><
417
4.05
4.53
4.29
3.70
411
4.28
4.21
437
432
4.24
411
3.9
3.87
4,02
411
422
422
4.46
4.36
4.34

68
16
69
65
I
13
66
69
10
66
65
10
15
T4
10
b1
66
b4
63
65
63

3.74
3.67
417
3.75
347
3.90
4.15
3.17
3.87
4.09
3.75
3.78
3.44
3.46
3.96
3.65
3.45
31
4.06
3.93
3.96

5

89
95
82
95
1.16
I
19
101
94
B4
95
1.04
1.00
98
1.06
94
1.02
1.04
96
96
88



22
23
24
25
26
21
28
29
30
3l
32
33
34
3
36
37
38
39
40
41
42
43
44
45
46

ne )

X
4.28
4.39
4.39
4,51
4.40
422
4.34
4.40
4.00
418
4.35
4.05
4.29
4.30
4.28
422
4.23
3.99
4.44
431
4.67
4.34
3.1
431
381

SD.

65
b4
10
96
11
60
93
62
63
65
96
13
b6
65
66
62
60
80
66
65
49
68
B4
10
83

X
415
429
4.20
4.23
4.21
418
412
4,32
4.26
391
419
423
415
4.23
409
4.02
4.09
4.09
434
4.28
451
4.28
3.75
413
361

A1
14
19
16
18
13
1
10
b6
16
66
18
10
99
o
1
65
60
68
63
63
12
82
69
B4

X
411
4.29
4.30
4.25
421
416
413
431
4.34
4.05
422
429
423
4.25
418
3.92
3.9
411
419
4.25
448
4.21
3.75
413
3.85

69
b1
16
14
ik
1
14
b4
929
69

63
b4
b7
68
83
69
b4
69
68
63
69
83
68
18

3.44
3.87
3.48
3.65
3.48
3.28
3.21
3.75
4,03
3.12
3.84
3.95
3.82
3.79
3.58
340
3.64
3.78
3.85
3.99
3.97
3.66
3.14
3.64
3.25

16

115
1.04
111
1.09
L1
110
112
96
86
98
95
I
95
95
1.06
131
96
88
98
95
1.04
1.09
121
1.08
1.26



n¢ )

=<
a7 409
4.24

419

4.17
46

15

Il

X .. X - X -
3% 76 401 5 343 115
419 4 411 46 3.78 b4

( X) ()
2
6 4.24
49 104 38
il
(X)
375 458
(..) Y| 46
( X)
370 453
(.. 63 9 Al
(X)
314 417 3.78

19 133 b4
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47

1021

8

1,389 11 12 14 15 18, 19, 20, 21, 22, 23, 24, 25, 26, 21, 28, 29, 31, 32, 33
34, 35, 36, 39, 40, 41, 42, 43, 45

12

X

1 4.24
2 412
3 4.34
4, 4.35
. 4.20
6. 421
424

( X)

49

A3

49

48

46

38

47

X
4.25

411

4.28

4.22

415

413

419

L2
96
85
S

A

46

X
4.20

4.09

4.26

4.22

417

413

417

0
96

0
99
ol

4

46

X
3.83

3.69

4.28

3.50

3.76

3.62

3.78

fl
15
87

88

10
15
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( 12) (X)
412 43 6 ! (.)
9 49 (X)
| 411 428
(.) n o6 (X)
|
400 426 (.) 50 59
( X)
i 350 4.8 (.) 6l 88
5
6
( X)
378 - 439
20 427
n-15
16-20 5. 10 424
422, 411 5
3.9
13
( X)

384 - 462



4.62

16-20
1-15 438,416  3.84

422
422
5, 16-20
5 416,412,409
(X)
2.00
300 379

8.96

80

5- 10
5- 10
20
14
(X )
402 -
20
11 -
5- 10
(1
351 - 4.38

200-249  250- 2 99

3.78

16.93
11.03, 10.98
17



13

3.78
3.83

3.86

4.00

3.82
413

3.89

4,06
407

4.35

440

4.09

4.13
411

5
30
4
A8
49

37
33

4,05
4.02

441

421

4.16

4.15
4.24

- 15

A7
AT

39

42

il

A7
28

16- 20

4.28
409

429

430

4.16

4.20
422

¥
A7
45
ol
45

44
31

4.29
4.16

431

4.39

4.25

4.23
4.21

20

¥
0
44
ol
52

49
Al



» 14

433
4.17

4.86

4.50

5.00

463
4.62

3.96
4.07
4.26

3.13

3.62

3.58
3.84

.60
37
43

L

3l

19
3l

442
4.32
4.43

4.55

4.29

441
438

16- 20

36

40
58

24

52

24
4

<
4.23
4,04
4.24

4.16

414
4,09
4.16

20
SD.
Al
96
ol

65

24

52
47



15

4,08
4.00

402

3.88

412

3.96
4.02

24
59

24

69

42

53
49

X
4,06
4.05

4.20

421

4.17

4.03
4.09

5-10

SD.

44
99

49

24

24

69
45

414
411

421

4.25

4.20

4,06
4.16

11-15

90

46

52

90

90
AT

x

415
3.99

4.22

411

4.10

4.12
412

16- 20

SD.

25
60

90

10

90

96
bl

X
4.26

414

431

4.29

4.20

417
4.22

20
SD.

49
90

48

29

90

49
43



16

X
381
3.74
4.24

351

381

3.65
3.80

66
13
89

94

13

16
67

X
3.83
3.76
421

345

3.11

3.60
3.78

2.00--2.49

SD.

62
11
86

89

10

16
64

X
3.83
3.68
4.26

351

3.13

3.65
3.78

2.50- 2.99

60
A7
90

88

12

A1
67

3.85
3.58
438

3.55

3.74

3.59
3.19

3.00

98
15
84

85
67

13
bl
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X
424
4.12
4,34

4.35
4.20

421
424

SD.

39
49
43

49

48

46
38

cv.(%)
9.20

11.90
9.91

11.26
11.43

10.93
8.96

X
4.25
411
4.28

4.22

415

413
419

42
24
90

65

90

94
46

cv.(%)
9.88
13.14
13.08

15.40
13.25

13.08
10.98

X
4.20
4,09
4.26

422

417

413
417

90
26
50

99

ol

24
46

cv.(%)
11.90

13.69
11.74

13.98
12.23

13.08
11.03

X
3.83
3.69
428

3.50

3.76

3.62
3.78

bl
15
87

88

10

15
64

c.v.(%)
15.93

20.33
20.33

25.14
18.62

20.72
16.93
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il
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(leniency error)
(halo error)
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2
6
6
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VAR1

VAR?

VAR3

VAR4

VARS

VARG

VARY7

VARS8

VAR9

VAR10

VAR11

VAR1?

VAR13

VAR14

VAR15

87



VAR28

8



VAR29

VAR30

VAR31

VAR32

VAR33

VAR34

VAR35

VAR36

VAR37

VAR38

| VAR39
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18

T

b(SE) R2 FS b(SE) R2 FS b(SE) R? FS b(SE) R FS
VARL 48" (.11) 23 02 43—11) 19 03 66**(.07) 43 22 59%¥(.02) 34 0
VAR? 1 51%(12) 12 26 51—{.11) 26 14 46%*(.07) 2 223 B0**(.03) 36 16
VAR3 141 17 10 6 —.10) 37 18 T3%%(,07) 53 19 B1%*(.04) 37 15
VAR4 16%*%(.12) 57 51 49—1) 25 05 o75%*(.07) 56 28 69**(.03) A7 28
VARS oQ4x+(11) 20 05 60 (.10) 31 18 *53**(.07) 28 15 38%%(.03) 14 -11
VARS 54—(.11) 29 10 76— 9) 58 23 B4x¥(07) 70 A7 B1**(02) 37 16
VART 63—.12) 40 3l A7—1) 22 002 66%*(.07) 43 -007 H7**(.04) 32 24
VARS 34— 1) 12 04 71—1) 5 28 £8**(.07) 16 22 55*%(03) 30 06
VARY 48—(11) 23 02 T4—1) 55 27 75%%(,06) 56 04 1 T7(02) 60 40
x2=12.40 df=18 P=083 X2=1026 df=19 P=0095 X2=957 df=15 P=0.85 X2=479 df=6 P=1057

GFI =0.97 AGFI =0.94 GFI =0.98 AGF!' =095 GFI =0.99 AGFI =097 GFI = 1.00 AGFI = 1.00

p< 01



b(SE) R2 S (SE) R? S b(SE) R? S b(SE) R2 FS
VARL0 4(10) 2 0B A1) 0370407 49 1 40 23 03
VARLL T1%09) AL 10 63"(10) 40 08 79-(07) 82 2 61%(0) 45 13
VARL2 657 (1) 42 20 B9(1) 35 2 8408 T 38 70 50 18
VARL3 4709 5B 2 8310 .69 35 T 50 17 80 70 45
VARL4 840 (09) 70 M 83—H{1) 0 46650 42 0 80%0D) 46 17
VARL5 6710 45 16 67" (1) 4 04 T5(0T) 56 A, T 17
X2=272 df=6  P=084 X2=22 o= - =070 X=28 =g =083  X2=18 df=3  P=061
GFI =0.99 AGFI = 0.97 GFI = 0.9 AGFI = 0.96 GFl = 1.00 AGFI = 0.98 GFI = 1.00 AGFI = 1.00

p< 01



1,

b(SE) R2 FS b(SE) R2 S b(SE) R2 S b(SE) R2 FS
VARLS BO¥(10) 25 09 Bg(10) 35 0 7)) 3 WL 880) 46 1
VARLT 5I(10) .26 03 Ee(10) 37 08 SR 37 S04 BT 4 03
VARIS ST(L) 76 54 TAMM0) 55 ST 1) IR 23 /0) 6T £
VAR19 68"(09) 47 08 1 @M 68 KR Vi 017 W 3 1303 53 18
VAR20 88°(10) 45 17 8309 70 16 10D 50 U a0 A 04
VAR2L L) T4 50 B2(09) 68 3% 0N 60 A M0 A2 1
VAR22 209 B2 06 I8(09) .60 19 80 39 19 6903 AT 2
Xt=331 df=7 P=084 X2=484 df=7  P=068  X=413 df=7  P=077  Xe=140 df=4 P=084

GFI =0.99 AGFI =097 GFI =099 AGFI = 0.94 GFI =0.99 AGFI = 0.97 GFI = 1.00 AGFI = 1.00

p< .01



A

b(SE) R2 S b(SE) R? S b(SE) R S b(SE) R2 S
VAR23 B2F(09) .68 39 a0 16 s 30 07 TR0 B 2
VAR B7H(09) 76 31 908 85 3R 48 2397902 63 32
VAR TH(09) 56 05 (08) 86 41 1108 L4 112 7602 58 21
VAR?26 THH(LY) 5T 45 630 40 01 80T 68 02 T0%(0) A9 21
VAR?T 62+(10) .38 A4 E(0E) 46 05 «B(06) .79 56 30 53 1
VAR?S STH10) 32 07 ae(09) 50 06 7307 54 S0 670 45 08
X2=116 df=5  P=095  X2=231 = o =080 X=072 df=2  P=070 X=099 == p=06l
GFI = 100 AGFI 0.98 GFI =0.99 AGFI :0.96 GFI = 1.00 AGFI = 0.99 GFl = 1.00 AGFI = 1.00

p< 01



22

VAR29
VAR30
VAR31L
VAR32
VAR33
VAR34
VAR35
VAR36
VAR3T
VAR38
VAR39

p< (1

b(SE) R2
6544 10) 43
80%%(09) .63
67F(09) 45
TAR(09) 55
J3%(09) 53
T5(00) 57
T9°(00) 62
68F(09) 4T
46%4(10) 2
5310 .29
T3H09) 53
X2=30.03 df = 35
GFI =0.95 AGFI

FS
-05
34
07
10
20
10
13
21
-03
04
11

P=071

=0.90

(SE) R
TH09) 50
TAH09) 56
82(09) 67
8% (08) .78

78"(09) 6L
86°(08) 74
T9H09) 62
88408 T
5TM1) 33
GOH(09) .36

T0%(00) 50
X2=28.62 df = 34
GFI =0.95 AGFI

FS
.06
07
12
24
07
12
07
25
05
-03
16
P=0.73

=0.90

(07)
(07)
(07)
(07)
T7(.06)
-82++(.06)
(.06)
(.06)
(07)
(.06)

)

b
80%#( 06

R2

44
A48
48
56

60

67
64
58
38
49
65

X2=27.55 df=31
=0.94

GFI =0.97 AGFI

FS
07
12
.06
11
15
15
14
18
03
.06
16
P=0064

b(SE)
£5+%(02)
T1%+(02)
72%(21)
76%%(,02)
1 T4()
T4%%(0)
02)
02)
02)
)

02
7 #(02)

R2

43
50
5l
57
55
55
54
39
25
35
50
X2=20.61 df=25
GFI =1.00 AGFI = 1.00

FS
.09
15
10
16
15
15
14
.08
.06
.06
14
P=071



23

VAR40
VAR4L
VAR&2
VAR43
VAR44
VAR45
VAR46
VAR4T

p< 01

b(SE) R2
881 46
29
1 (1) 04
A1)
1) R
6210 38
BT(1) 33
LEHLD) 4
X2=671 df=13
GFI =098 AGFI

FS

3l

20

-01

.08

04

26

09

25
P=092

=0.95

b(SE) R
63(10) 40
10) B
B6R(10) 33
5IH(10) 28
8O%+(10) 48
T9%%(00) 63
410 55
R0 63
X2=855 df=13
GFI =0.98 AGFI

FS

14

17
-03

07

17

26

19

22
P=1081

=0.94

b(SE) R2
50%(07) 25
se(07) 34
B(07) AT
50%(07) 25
0T Bl
oge( 6) ol
66+(07) 43
0T B2
X2=813 df=10
GFI r0.99 AGFI =

FS
01
04
04
02
.08
17
01
08
P=10.62

3)
0)
03)

02)

| 75**( 0)
1 B(02)
66"%(.03)
74%%(03)
X2= 1.79

R?

25
3l
39
3l
56
41
43
55

df =5
GFl =1.00 AGFI = 1.00

FS
002

23

22

02

.36

11

12

21
P=0.88
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2

wa (VARLD)

(confirmatory  factor analysis)
A7 47
(p<-01)

10

18

o7
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24

14.09 (df = 20, P = .83)
1

A.1peer = A1 student)
crl = 1.00, nA =998, R = .995

05

(A.2,self = A2.SUP

1782 @t =3, p=.17)

373 (1782-1409) dof 3

100

(multiple  groups)
4 1 1

6 (p<.01)

T 24)
GFI = 1.00, NFI = 998, RFl = 995
1

4 (Alself = Alsup
1855 (df =23, p = .T3)

446 (1855-1400) df 3

%)

A,2,peer = A.2student)

GFl = 1.00, NFl = .998, RA = .995

05



101

( 21)

4 (A3self = A3sup = X3.peer = A3student)
1435 (df- 3 p- .92)  GH =1.00, NH =998, RH = .99

4 026 (1435 -1409) df 3
05

( 28)

4 (Adself = x4sup - Adpeer = X4student)
16.23 (df =3, » = .89) GH =1.00, NF =.998, RFl =.995

4 214 (1623 -1409) df 3
05

( 29)
4 (X5%elf = xbsup = x.5,peer =

Aj,student) 2174 (df=3pP=54) Gm=



102

100, NH = .99, RH = .9%

4 765 (21741409 df 3
05

( 30)
4 (X6,5elf =
A6,sup = A6 peer = ABstudent) 21.69 (df =3,
» = .54)  GFl =100, NFIl =.998, RFl = .994

4 760 (21.69-14.09)  df

4 264
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24

b(SE)
11 ,56**(.09)
+63* (.00)
? ,81* (.09)
: ? +83*+(.09)
1.1**(.09)
+65' *(.09)
x2= 14.09
df = 20
p= .83
GFl = 1.00
NFl = .998

P< (1

31
40
66

.69

111
42

FS

=11

-.18
-.06

.39

1.18

-23

b(SE)

n75%(.09)
.70"(.09)
84++(.09)

75*(.09)

m85++(.09)
m67+(.10)

.57
49
71

.56

72

45

FS

14

a5
.28

21

41

-.09

b(SE)
30*(.06)
84%%(.07)

,86**(.06)

*68*+(.07)

,76*(.07)

,69*(.07)

.64
71
.74

A7

58
47

FS

A7
.36
.34

A7

.06

.05

b(SE)
TT(.02)
75%+(.02)

,83(.02)

,78*(.02)

,877(.02)
,82* (.02)

R2

.59
.56
.68

.60

.75
.67

FS

.16
A3
.20

.10

.28
.27



BSE) R Fs b(SE) R Fs b(SE) R2 Fs b(SE)
! w/67(.02) 45 09 *76"(.02) 57 14 ,76"(.02) .61 16 ,76"(.02)
*75*(.08) 49 n 70+ (.09) 49 15 .83*(.06) al .38 ,757(.02)
! +83"+(.09) .69 01 85*(.07) 71 .28 ,84**(.06) 73 .36 ,83%(.02)
! ,89+*(.09) 72 A ,80'*(.09) 56 21 ,677(.07) 46 18 77(.02)
1.r%(.08) 105 97 85* (.08) 72 A ,75(.06) 57 .05 87(.02)
*72+(.09) A48 -14 67* (.10) 45 -.09 ,67+(.06) 46 .05 ,827(.02)
~xS| 1855
df= 23
p= .73
G»= 100
NF = .998

P< 01

88 8 0

3



*k

.26
b(SE)
2 .62*%(.08)
75%+(.02)
2 .85"(.09)
Vi
[, £ 2 87*%(.09)
; 1.r%(.0B)
69%%(.09)
x* = 17.82
df= 23
P= 77
GAl= 1.00
NA = 998

P< (1

.36
.48
.68

71

1.06

.46

-.08
-15

-.04

.37

1.04

=17

b(SE)
W7++(.09)
75%+(.02)
86*%(.09)

,76*(.09)

m37++(.08)

*69*+(.10)

.58
.53
71

57

.73
46

14
.16
27

.20

41

-.09

b(SE)
«77++(.06)
«75++(.02)
,83*%(.06)

67*+(.07)

m72++(.06)
w66+ (.07)

.63

63

72

.46

.55

46

21
.32

.35

.18

.07

.07

b(SE)
77%(.02)
75%%(.02)
83(.02)

+78%+(.02)

m388++(.02)
«82" (.02)

w

.59

.68

.60

.75
.67

.16
.13
.20

10

.28

.27



21 [

b(SE)
56**(.09)
.64*#(.09)
83#4.02)
.84%(.09)
1.r*(.08)
.65+*(.09)

x2= 14.35

df= 23

p= 92

GFl = 1.00

NFl = .998

P< 01

31
40
67

.69

111

42

FS
-11

-.18
-05

.38

117

-.23

b(SE)
75%+(.08)
W0*+(.09)
83*%(.02)

74 (.09)

=g
,67(.09)

R2

.56

49

.70

.55

4P

FS

14

15
.28

21

42

-.09

b<SE)
,79%(.06)
,83*%(.06)
«83*+(.02)

67° (.07)

+75%+(.06)

,68**(.06)

.63
.70

72

.46

.57

A7

FS

17
.37
.34

.18

.06

51

b(SE)
77(.02)
75%%(.02)

,83*(.02)

,78* (.02)

,87%(.02)

,82++(.02

R2

.59
.56
.69

.60

.75
.67

FS

.16
A3
.20

.10

.28
.27



28

2
|
b(SE)
2 54%%(.09)
«62*(.09)
2 m80*(.09)
2 W7+(.02)
1= )
+63"(.09)
X*= 16.23
df= 23
P= 85
GFl = 1.00
NFl = .998
P< o1

30
39
66

65

111

41

FS

-11

-17

-.03

37

121

-.23

(SB)
+76%+(.09)
71%%(.09)
+85"(.08)

,17**(,02)

,86*(.08)
,68+*(,09)

R2

.58
.50
71

.58

72

45

FS
14
15

27

21

41

-.09

b(SE)
+83*(.06)
+86**(.07)
,89%*(.06)

T7%(.02)

+79**( 06)

,72**(.06)

R2

.65
71

75

.53

.59

50

FS

.16
.35
.32

.18

.05

.05

b(SE)
76° (.02)
+75*(.02)
m32+(.02)

W7++(.02)

,87%(.02)

82" (.02)

R2

.59
.56
.68

.60

.75
.67

FS

.16
A3
.20

.10

.28

.27

80T



29 &

b(SE)
J ,53*%(.09)
+60"(.09)
! 72%%(.0 )

! n79(.07)

87%%(,02)
61*+(.09)
x2= 21.74
= 23
P 54
GFI  1.00

NFl = .998

I P<l

R2

.30

.39
.59

.67

.96
41

FS

-.03

-.05

-.001

43

.93

-.07

(SE)
76*%(.09)
71%+(.09)
,85+%(.08)

+75%+(.09)

,87(.02)
,69*(.07)

R2

.57
.50

71

.56

.73

.46

FS
A4
15
.27

21

42

-.09

b(SE)
«84*+(.06)
*90" (.06)
+90**(.06)

72%(.07)

87+4(.02)

76%%(.05)

Rz

.66
.73
.75

.50

.65

.52

FS

.16
.34

31

.16

.08
.04

b(SE)
77%(.02)
n75%(.02)
83%(.03)

,78*(.02)

«87++(.02)

«82+4(.02)

Rz

.59
.56
.68

.60

.75
.67

.16
13

.20

.10

.28
.27



30

P< 01

5913%%

b(SE)
.61(.09)
*69* (.09)

«87*+(.09)
,89"(.09)

.1*%(.80)
*80*+(.02)
21.69
23
54

1.00

.998

R2

.35

45
.69

g1

1.06
52

FS

-.08

-12

-.03

.35

1.00

-17

(SE)
wO* (.09
n74(.09)

,88*(.08)

m80*+(.08)

+13*+(.06)
,80(,02)

.58
.53
72

.59

A7

.54

FS
A2
.15
.25

19

40

-.06

b(SE)
84*+(.06)
+88* (.06)
+90**(.06)

+73**(.06)

,83**(.05)

«80* (.02)

.66
72
.75

.50

.62

.55

Fs

A7
.33
31

.16

.06
.06

b(SE)
+76* (.02)
74%%(.02)
82%%(.02)

777(.02)

,86*(.02)
,807(.02)

.58
.56
.68

.60

.75
.66

.16
.13
.20

10

.28

.27



D
2)
3)

4)

6)

7

31

A,s,self ™ As,sup M Ass,peer N XS , student
Xi.self = X1 bup =X .peer = Al .student
A.2.self - x,2,sup - x,2,peer - X2,student
x,3,self = A,3,sup =x,3,peer = A3,student
x,4,self = A, 4,sup = X4,peer - AAstudent
x,5,self = x,5,sup =x,5,peer = X0, student
x,6,self = X6.SUP = A,6,peer =6 ,student
*P< 05

AX2a

Adfab

AXZ,
AXZ,
Ax\,
Ax2,
Ax{

AX2,.

14.09

18.55

17.82

14.35

16.23

21.74

21.69

=4.46

=3.73

=0.26

=214

7.65

7.60

df X2df
20 .70
23 81
23 77
23 62
23 =7
23 .95
23 .94
Adf,, =3
Adf,1 =3
=5
Adf,,
=3
Adf6,
=3
Adf,,
=3
Adf,,
1 2
1 2

.83

.73

a7

.92

.85

.54

.54

GH
1.00
1.00
1.00
1.00
1.00
1.00

1.00

NFI

.998

.998

.998

.998

.998

.998

.998

RFI

.995

.995

.995

.996

.995

.994

.994

RMR
.002
.004
.003
.003
.005
.003

.015



Mann Whitney Test
34

error)

(independent samples)
37

05

(halo score)

t -
05

test

112

(leniency error)

The Wilcoxon

32

(halo

35



32
1 4.24
2 412
3 434
4 4.35
5 4.20
6 421
4.24
*P< o5

6 |

411  4.35

113

( X) !
!

(R) (R2

8 425 9 1= 13

2 411 1 - =98

1 428 10 =0

12 422 7 P(U) = 242

5 415 4

6 413 3

Zr=44 419  XRj=34

The Wilcoxon Mann Whitney Test P(V)

242 ' (05) 0

(leniency error)
32



f= 2 JNS 2 TN U FCR NG SN

*P< 05

Ll 2.1
(leniency error)
33 ( X)
R) (Fg
4.24 9 4.20 5.5 1=105
4.12 2 4,09 1 2=255
4.34 il 4.26 10 0 = .05
4,35 12 4.22 8 P(U) = .138
4.20 5.5 417 4
4.21 1 4.13 3
424 Sy =465 4l SRj=3L5
6
412 435 ( 33)
The Wilcoxon Mann Whitney Test P(U)
138 (05) 0

(leniency error)

114



34

o ol B W N

*p< .05

4.24
412
4.34
4.35
4.20
421
4.24

2.2

R)
9 3.83
6 3.69
il 4.28
12 3.50
3.76
8 3.62
5X =53 318
6

350 435( )

()

N~ B

2>2 =25

115

(leniency error)

1=4

=OE

O = aob

P(U) = 013¢

The Wilcoxon Mann Whitney Test

013

(leniency error)

(05) H



*P< .05

35

"S.D.self

39
49
43
49

48
46
46

"SDsop

42
94
96
65

20
24
4

116

(leniency error)

(halo score)

"SD.self m  ~S.Dsup

-05 t=-0.28
-13
-16

-07
-08

Xd=-.08

(halo error)

35



*P<.05

-1.812)
(halo error)

(halo error)

36

"S.D.seff

39
49
43
49

48
46
46

SDpee

0
90
0
99

ol
24
53

117

05 (2

(ha:~ error)

(halo score)

Xs.Dself m Dpeer

(Xd)

-07 t=-028
-07
-01

-03
-08

xd=-.08
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(halo error)

( 36) ,
{-test
t=-028
05 (Z® -1812)
(halo error)
(halo error)
3.2
/) (halo error)
37 (halo score)
XDs» m "SDsd
S.D.self "SDstd ( X d)
1. 39 6l -22 . = 39
49 15 -20 t=-0.83
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37 ()
XD "SDstd
’SDstf  "SDgd
(Xa)
5. 48 10 -22
6. 46 75 -.29
A6 16 xd = -.30
»p< 05
(halo error)
( 37)
t-test
(independent samples) t--083
05 (ze -1.812)

(halo error)
(halo error)
3.3

(halo error)
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